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L HITTOWTE 6 el Gt T LIS T actgud afteors Qereuy QupdlEhsre <ot Sms
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s _
‘doed Lré Bledlwernt' erebip Hevgrisdpens G eevert almasaent

QuiHmeurr
A) @Gevagm y ' B) uray Semgwm

C) &g’,m@&,@g . D) . 2. FQIDDTEH.

I

- Who bagged two Oscar awards for the film ‘Slumdog Millionaire’ ?

A) Gulzar B) Bhanu Athaiya

C)  Satyajit Ray { D) AR Rehmé‘n.

x

2009 b g sl UaeaTs UG Wayes allpg uhpeurt

A} V.P. georgn Gl welt B) &Cprgdlef) aupstiias

Cl} D Qguarhges D) _G. eaupmo Speinariaptsd.
Who received the Padma Bhushan award for social work in 2009 ?

A) V. ‘P. Dhananjayan " 'B) Sarojini Varadappan

Ci D. Jéyakanthan _ D) | G. Sivarama Krishnamurthy.
2002-2007 & @hdlurales sperrdludlure @ bhbeeut

A) AP.J. sigiev seulrid B) K. R. BTmwesTesT.

' 'C) R GeuksLlymwe D) B.D.gmryg.

Who was the President of India durmg the year 2002-2007 ?

A) A. P. J. Abdul Kalam . B) K. R. Narayanan

C) R Venkatéraman D) B. D. Jatti.

DGIT Lo arid Cadlu senys Galemeeumbiig S g;a»u@smgoﬂu@ﬁg,uuu_t_ 24,6007 ()
A) 2007 B) 2009 |

C) 2010 D) 2008,

: xxxx [6001 ] _ 6] - [ Turn over




HANU 4

Mahatma Gandhi National Rural Employment Scheme was introduced in the

year
A) 2007 B) 2009
C) 2010 D)  2008.

5.  @ndureller wpse wa sealluble Qubp wreul b
A)  Qpeveyrit, uisly yGaen | B) eafeomgend, Gayenr
C) Gameurr ,‘"as;‘rgbm_&,rr . D) esrr@é’qznjfo, sl pHTH.
The first totally literate district in India is
A) Nellore in Andhra Pradesh B) Ernakulam in Kerala
C) Kolar in Karnataka D) _ Kancheépuram in Tamil Nadu.
6. Goflés Qﬂccs‘tsrer»emb Qa,rre\nbLﬂquraﬁ]é\) Uwesond Gleiis (paee @bl Guesr
A @idlyr mml B)  evefwr Wlieawr
C)  séwuem emeleur D) Oy gum urlieey.
The first Indian woman who travelled in American space shuttle, Columbia was
A) ~“IndiraNooyi . | B) Sania Mirza
C) Kalpana Chawla D) Pratibha Patel.
7. sbpHTLG T Wpse QU STeURGDS SHemeveuls
A) Sesadl B) wogdler ayess
C)  mewtT D) HyeooGuy.
The first woman DGP in Tamil Nadu is
A) Thilagavathy B) Lathika Saran
C)  Aruna ' D) Kiran Bedi.
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8.  arafusdle 2 adléd obsraug @Lsost QubneTer @hHwl Gueso
A) By @i ‘ B) urgdor 59

‘\
)

C) Sggur umlied D) | @gbﬁgn mrdl.
World‘s\\ﬁfth most powerful Indian womail in business is
A)  Meira Kumar | B)  Fathima Bibi
C) Pratibha Patel D) Indira Nooyi.
é. 20 sugl &MDSTGeuhS [brrG\&;a‘ﬂséT FLTHIMLGT &6 oMBTE Hesl-Glubn @b
Al yg Ql_ls‘usﬂ : B) pbenu
C) = Glgetreneo D) é]@'msm.[bg;qgfn'.
20th Commonwealth Speakers Conference was held at
A)  New Delhi B) Mumbai
C) Ckllennai [2) Thiruvananthapuram.
10. .. Vet Qemg e eyl dlevenaer @b QupbmieTere 2
Al gssdildy : B) syafleis |

C) Guuler D)  umied.

Branches of which tree appear on the UN flag ?

A) Eucalyptus B)  Olive
C} Maple D) ° Barley.
11. 2010 v sHPHTLgeH QTSHD .......... TR wreU L fiseT 2 efenes .
_ A} 30 ' B) 35
o 32 | D) 36
xxxx [6001 | ' (6] _ [ Turn over
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12,

13.

14.

15.

The total number of districts of Tamil Nadu in 2010 is

A) 30 . B) 35

C) 32 D) 36.

96-5ug @HSIL ‘Q{US]QS]UJG\) WABIH B Gubp GLib -

Ay - QubiseapT B) ememaynurs
C) Yz el ' E D)  afléveurrn,

96th Indian Science Congress was held in

A) Bangalore B}  Hyderabad

C) New Delhi D) Shillong.
shdlymwes -1 eresrn ClewhanaCarer shdlraies Gleupdlapnre gailiucL gy aoh
A) 2008 : B) 2007

C) 2009 _ D} 2010.
Chandrayaan-1 was successfully launched in the year

A) 2008 _ B) 2007

C) 2,609 D) 2010.

i e Grremt L@Quu(gg@m Gérr@smecn

A Xsdi B) dla giey

C) | Qeueu_frgrSlenm Gamgement D) eredlerm.

The confirmatory test for AIDS is

A) X-ray B)  Biopsy

Q) Western blot D) ELISA,
flaggievabiunns eusmyuLisamer CuflgTsaan HlugTasmab 2 gab &rHerd
A)  GerGemdlyml B) | CuesGLrélymy

C) en@usl Gyrdlyml - D}  QgrGurdlyma.
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An instrument used for enlargement and reduction of maps with accuracy is

A) Sonograph o B). Pantograph

C)  Spectrograph D) Thermograph.
bligwe I g Llgue I 26 QUIESE), g8y Qarpssiul Geior @ollipsaeas
Qeras @ sfluren el ows CaipGs® : :

Ui iguwies, I uliquen I1
a)  elldueupreedr genbhs 1. e Crm Guerdisb
b}  erefur difeur 2. Qe
cl  aev. sHEITGeaT 3. Querafle
d)  &mriur BLeid 4. ugpsmTL.
Ghl@sar :
a b c d
AJ ) 3 i 4
B 1 2 3 4 )
C} 4 1 2 3
D] 3 1 2 4.

Match List I with List Il correctly and select your answer using the codes given

below :

List I List I1

a). Viswanathan Anand 1. Astrophysics

Chess

b) Sania Mirza 2.
c) S. Chandrasekhar 3. Tennis
d) Garba dance 4. Plinjab.

Codes :

B) 1 3
C) 4 1 2
2

W R e A

D) 3 1
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17.

18.

19.

20.

soOetr 28, 2010 b HYFTH GHHUT i e BTLGLss Hlafldr yamissd)
spULBSD Gielg GleTeiTL g). |

A)  seoLm B} @eGwfssr

C)  mgmed D)  @Qymedlum.

On June 28, 2010 India signed a civil nuclear agreement with

A) Canada ) B) America

<) Iran . D}  Croatia.

oot 22, 2010 & Ghdlu edwretiiLemL. Qseayal Lsalsers ufilhsionse SlflsGEL
ey

A) 5l QLevDiBit B) M. S. Gared

C) Lc@thrrfr)g D) s Bae.

IAF proposed honon:ary post for the cricketer on June 22, 2010 which was
conferred on

A) Sachin Tendulkar ‘ B) M. S. Dhoni

C)  Srikant _ ' D} Kapil Dev.

11-cug) spharan( St sralbd

A) 2006 — 2011 . B) 2007 — 2012

C) 2008 — 2013 D) 2005 — 2010.

The 11th Five-Year Plan peripd is

A) 2006 — 2011 B) 2007 — 2012

C) 2008 — 2013 _ D) 2005 — 2010.

@Qbdlw weast Qgrens sawTdbls DUy Heb gl ?

A) Syeudl, 9 | B) meoreufl, 9

C) wrié, 9 D)  glye, 9.
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21.

23.

24,

A} Gold B)

9
- Which day is called as the Indian Census Day ?

A) 9th February B}  9th January

C) 9th March : D)  9th April.

@) b7 & 6Sledt aeTLE

A} wellg euenisd) Qummer B) é$ifemsssmar GurmsT

C)  shuys D) &fho eubleid.

Insulin is a/an

A) human growth hormone B) therapeutic product

C)  vaccine D) organic acid.

weflge iPbs wes 2 Cevrsd

A)  ghsb B) « ‘smBp

C}  @Qusby _ D)  Qeuenef).

The first known metal to man is

‘Copper
C) iron D) . Silver.
wsaﬂgssﬁﬂsbr@ljgg,é Falugdser o (Hem@b @;Lb

‘A) ses _ B)  etoremoiyen

C) 6TQ_]L‘DL{ Ioghemnsp | D) Ggmé.
Formation of red blood cells in a normal human adult occurs in
A} . muscle B) spleen
C}  bone marrow ' - D)  skin.
QeusreNfledr 2 @klemen

A) 327° C B) 80°C |
C) 961° C D) 1083°C.

[ Turn over
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25.

26.

27.

28.

The melting point of silver is
"A) 327° C B)

C) 961° C D)

18 aamque‘u o_efren ShGGHEH T eTemL. g5aIBID

A) 916 B)
c) 100 ‘ D)
18 ct contains ............. reens % weight of gold.
A) 916 | B)
c) 100 ‘ D)

512 & se ppevld

A) 18 B)
C) 6 | D)
The cube root of 512 is

A) 18 \ B)
C). '6 D}
Qbdhuralles (pHo Guurs Geneveurt

A) |_rre'§;|_r'r. @Uwegﬁ?@j- Syers B)
C) &l all. &ifl D}
The First President of India was

A) Dr. Rajendra Prasad o B)
C) V. V. Giri . D)
&SI PUTEID QUWoHs sl p&alu Cprésd

A)  Qumb Cumyrl_kisen B)

™

C) aoufl Gegubs Losso D)

XXXX ' (€]

80° C

1083° C.

75

94.

75

94,

16.

16.

L&A . @\ S &lpeiyemoresT
Suret Cigoulley S,

Dr. 8. Radhakrishnan

Giani Zail Singh.
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29.

30.

31.

11

The main aim of non-co-operation movement was

A) large scale demonstrations B)  Hartal
C) non-payment of taxes g D) to attain Swaraj.
UTHEDEL .veeerrrvnrinnenn & &&aTl ClummHenT@ib.
A)  sygflesiub B) @iy
C)  smbgh D) owssm.
Baﬁxltc-is an ore of
A) Aluminium B) Iron
C) Copper D} Mica:
us&TsaTrrE.@ ot H56 Seowllldr Gemaabusd ahgerearg 7
A) Plyuwrtéd B) @gso?mrr
Q) CUETBTL 65T , D}  summenr,
The headquarters of World Trade Organisation is at
A) New York | _ B) Geneva
€) London e D) Warsaw.
- Busisefies 2 el q_s,gg@u;bgp seuit gpefasel HTeoILED @)L
A)  swm . B} ‘-DQJU&
G sigbsT \ D)  ETyETS.

The world famous wall paintings of the Guptas are found at

A) Gaya - B)

C) Ajanta _ D}

Mathura

Sarnath.

" HANU
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32.

33.

34.

7 Qe85 g 24 Qs S 2. Lyd QETeL. sabiflsr sen oyeney

A) 168 Qeuf 3 B)

C)  392nQe ° ' p

1176 n Qeuf

. 784 n Glg S 2.

The volume of a cone with radius 7 cm and height 24 cm is

A) 168 cm® B)
C) 392mem® D)
pest Gmgawmgmgu upd ePlu 2 geyeug

A)  QPershser ' B)
C)  M&Beushd D)
The early Vedic period is known from

A)* the Epics B)

C) the RigVeda D)

Sleteumid s 58emgl L Qemdedlssr G :

PO srEhd]

.A) oenft . B)

C) | LDEmEY D)

Find the meaning of the underlined word :
Mudhu Mozhi Kanchi

A)  Town | 'B)

C}  Mountain : D)

xxxx [6001 ] |

1176 x em?®

784 n cm .

2 Ul @hisel

<217 GOOTILIGI & 61T

the Upanishads

the Aranyakas.

20

DT & GV 65T .
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35. &ftf gnl‘_i_lrr TETLIG BT @urrq_r,eﬁ,.

A)  Gousmenlleremin B)  supeon ysHmes «

C)  usewl Yy D) QGsemeuseir. )

‘Garibi Hatao’ means

Ai unemployment B) removal of poverty

C) green revolution ' D)  services,
36. o wrgsdlihe Goars 2 aien srGsrame SNarauGorm Seopssiuaing

A) eTesed Wwyhs eTCenamen "~ B)  OeCadi L snBene
C} esmgryen srlemeane D) Fpediie sT@sT@.
A cheque in circulation for more than six months is called

A) stale cheque B) post-dated cheque

ﬁ C) ordinary cheque D) crossed cheque.
s b 137, saflayst srasdld LSH0SD
2l P A} @peoLred flbsg B) pampret Wb
i C} gmeral MMbsg D) preverel Ofbss. -
g : During the period of Kaniskha, Buddhism had split into
L { » ; A) two branches B) three branches
AN S g
Co ¥ C) five branches D)  four branches.
3 .
s A i 38. G® a@maiar mBss 60. b algdursid 8 eale sybs aamser
o A) 32,28 | B) 33 27
7 “ £ o 3525 D) 34,26
,.:? XEXX _ 6] - . [ Turn over
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HANU - 14
The sum of two numbers is 60 and their difference is 8. The numbers are
A) 32. 28 Bj ‘33. 27
C) 35,25 : D) 34, 26.
-39, erglemennt Hys sULD GubpiulL e
A) 1961 B) 1960
C) 1962 D) 1963.
Dowry Prohibition Ac£ was passed in the year
A} 1961 B) 1960
C) 1962 . D) 1963.
.40. sL Carrhsefile 2 L ha HsmAlD e eTeleuTmy &emgpé,.&,uu@aﬁlg)gj ?
A) saseT | B)  Geustenens Qamiillser
C) meordlyer D ey HCwemL .
The breaking waves are called
A) waves B) white caps '
C) surf , D) wave cut platform.
41. ' uCreayen sollen’ eredip Sl b s & QBTLIL L WS 2
A)  uTe 2 pusdh QuEssn B) dieser Guiur®
C) QeusirengshHisy ' D) Gamyfl eueniiiy GuibLir@.
The Opefation Flood Programme relates to
A) m_ﬂk production development B) v_vater resources development

C) flood control D)  poultry development.

xxxx [6001 | (6]
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% }f | '642 21,6071 6 D SOIBTL.IT jembibgieTen @b |

iﬁ E .i | ,,: A) e owlser B) yélur

’: a | u. C) Qg oGCuflésn D)  oyevdl@redwe.

'% 2 ; The Andes mountain range is- located in

:; _ é A) North America B)  Asia

E é C})  South Amerig:a A D) Australia.

‘43, s BT Sl (LpSEILD eudHEH@h wrhleud

Ay epfleur : B) Jaorf

- gl gty i
—

C)  ugesmn D)  GmTH.

= et

The state which ranks first in per capita income is

i A) Orissa - . B) Bihar
i C)  Punjab D) Gujarat,

R e

44. @ Cus sralusdler Klabaysst BLbs G

T L e A E R gt
e

? A)  QepmsSed B) G&I‘I’_L;)ﬂ'G&llJlT
I}‘“ C) GeprrrL_medt D)  swrfur,
J Incidence of “Yeasu Kaviyam” was held at
g - A} ' Jerusalem | .B)  Somalia .
;; C) Jordan D) Sarﬁaria.

:~45 Geugyrst UMD sevabd HenCUDD 3y cvoT®
g A) #.9.1806 _ B) &l 5. 1860
C) &9 1804 D) 4..9.1857.

Vellore Sepby Mutiny was fought in

B N R VR 2 e,

A) 1806 A. D. : B) 1860 A, D.
C) 1804 A.D. D) 1857 A.D.
. ¥XXX _ : 6] ‘ ' [ Turn over
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46. y = 4 THTLDOBS §frmrr&;e'ra QeresoiL #wesTUTH
A) 2y+3=0 B) y-7=2
O y.+3=.7 D) y+4,=0:
Which equation has'y = 4 as solution ?
A 2y+3=0 . B) y-7=2
C) 'y+'3='l7 D} y+4=0.

47. Qgeel slL ety GurprlL sl uererdler @sgy Qelwin' L @k ol

gemeveUt &Heft

A)  gmeaaniered Gn wHDID erhd

B) Gurdlere Crep whmis C. R. srev
C) - spgluurde pmid smiiSest &gy
D) dest obpi SN gi@guwe\).

Two prominent lead_ers‘ of Punjab were arrested in connection with the hartal

against Rowlatt Act. They' are

A) Jawaharlal Nehru and Gandhi
B)  Motilal Nehru and C. R. Das

C) Satyapal and Saifuddin Kichloo

D) Tilak and Bipin Chandra Pal.

AR e p&léaamyuiicy 2fs Senalles. sty Qerfiberoessi
sremTtu@dlaTpe. ' .
A) Cardl | B) am®sel |
C) sud . D) fisg. .
Lax;ge number of jute mills are found.on the banks of the .................... river.
A)  Kosi B) Hooghly
C} Tapti D) Indus.

* soxx [6001] | s
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49. sUrE GHP FRLTTES shssms Camheissert .

A)  Quuflwmr B)  euefreneomit

C)  LmhLt. pémeled Qi D) T. M. pruwf.

The Samarasa Suttha Sanmarga Sangam was‘ founded by

A) Periyar B) Vallalar

C)  Dr. Muthulakshmi Reddy D) T.M. Nair.
50. @rgHw eur a@&tﬂmr‘r&;aﬂéﬁr usals &reuld

A) (BT 65T (& gw‘m@asﬁ B)  (peTny 4 etor(he &l

C) @by YyorRiser | D)  Bym octorHisei.

Rajya Sabha members are elected f01f a period of

A) four years B)  three years

C)  five years D)  six years.

51. ulguwéd I g ulgquée I o6 Quresdl, £Cp Qar@éeiul Berer @@uﬂ@&mm&

L emires s e e e e, s

rl
e et g SRl e

R

.

o FBrgemes s TRy

Rz

PRl
.

Qara( efurar efomus Caibosd :

a)
b)
c)
d)
ehSpser
a
A
B) 4
Cy 4
D) 4
-KXXX

ui-igwés X
Swedlt) Slanesoriiy
Feo ememriiLy
Ca*'

Mg2+

2 3 4
3 2 1
1 2 3
2 1 3

uCgwé II

NH,, BF,

2,8, 8

2,8

@'ememmi] Slemeooriiy.
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Match List I with List II correctly and select your answer using the codes given

below :
List 1 ‘ ' , List II
a) ~ Electrovalent bonding 1. NH,, BF;
'b)  Co-ordinate bonding‘ 2. 2,8, 8
c) Ca¥® 3. 2.8
d)  mg* 4. Polar bond.
Codes :

A 1 2 3 4
B 4 3 2 1
o 4 1 2 WB
D) 4 2 I Rt

52. 3 wphmpud 6 Gt 1.\ e
A1 . _ B) 2
c) 3 o D) 6.

The G.C.D. of 3 and 6 is

A 1 : | B) 2
) 3 | D) 6.
53-. wreu L BHULSEET .o, HubléHpm .
A)  yEppi i3) LDFFG)fL:.LN.-%L...é]LLITTGTﬁ
C) | (PEVNDE &1 D) @@Qm&: GYWLTES Semeveur.

The District Judges are appointed by the
A) Governor B) District Collector

C) Chief Minister - D) President of India.
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* 54. uellllen SiE& ..., . smlbeterer ).
i A 90° _ = B) 66}
; o 23 D) 23
f{: The earth is inclined at an angle of
eh A) - 90° . B 661
‘; C) 23% ' D) 23°
55. D&:r‘rmg,g'j@-a_rﬂlm Spuy 2-poy Gdlé Geveme
é | A)  yseflerr B)  ueuenysé)
j C) . uryGuedlwb D)  eamli.
1 . Special locomotory 6rgan is absent in
g A) Euglena ' B) Corals‘
C) Para:mecium D)  Hydra.
% 56. padlfll veoodd 2 6 VoGBS Cadlu YRST ... . ST &FeooTTeulD
; 2 GWD.
A)  ged B) wulé
c)  Hpsos . D) k.
: Mukkurthi National Park in Nilgiri Hills is the sanctuary for
{ A) Tiger - B}  Peacock
C) Leopard ‘ D)  Lion.
-B67. 1995 b a;{,@m@ 2 el Cluettisel WTHTE BB @b
A)  Quiighiiy B) Lq.c;beﬂ
{ C}  eveoTl_edr D) flywmis.
In 1995 World Womfan’s Conference was held at
"i A)  Beijing | B) Delhi
C) London D} New York.
XXXX 6] : | [ Turn.over
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58.

59.

60.

6l.

7.4,5.1,7, 3,4, 6.7 @1 0&®
A 7 : ) B) 6
C) 5 D) 4.

Themode of 7, 4,5,1,7,3.4,6, 7is

A) 7 | B 6

C) b5 ' D) 4,

smBUY LGS wer s a{ms;ﬁls'o et LUl eTn wTeul (b

A Gsad 'B) .ﬁ@mqrﬂ

C) G&rru.u.bqé’;gm‘r D)  Qageneor.
The. black cottonr soils are found extensively; in the district of
A}  Salem B} Dharmapuri
C) Coimbatore D) | Chennai.

@bl Tlafel cubdl, eubidluymsaD, (peeurTHaDd Cleudufng

A zes andlsers ‘ B) usteml( Lewr HHleaTs

C)  Qidu Spesss D) ueieTlL(@ D spasdbers.
Reserve. Bank of India acts as the banker and the agent of the

A) World Bank. l_ B) International Monetary Fund
C) Government of India | D) LF.C.

‘Diesreteotmit euemshigh Gl@Leud’ ereor @MHILUIL LU L pLiT

A} ©Qlseut wemesal . B)  sewihsemm

C) sawame banaial D}  sguEwr.

xxxx [600T]
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Who was praised as “Minnanar Vanangum Deivam” ? d
A} Wife of Kusela B)  Ananganar
C}  Wife of Krishna D)  Anusuya.
62. @uubaTerrs sl Gemihdlueurt
A Gaphey B)  esuder pué
C)  gedur | ' D)  uréue.
fhe construction of Qutb-Minar was started by
A} - Iltutﬁish . : B) Qutb-ﬁb~din-Aibak
C) Razia D) Balban.
83. sllppmigd Jdeumt eueSERTET .., Sl dlgmo o eenrél  syye
QeuseuPelTng.
A gon Bl. @y
C) peimy - D) prang.
" In Tamﬂ‘Nadu there isa .................... tier system of Rural local governmf;‘nt.
A)  one ' - B) two |
C) three | D) four.
64. @ndlurales 2 etenr wrElovisefley LpOueTedet 2yg el 106 SEDETE «rererererresnerne
@L_éssmg) cudleng.
A) uglQereiprals B) @peorLmeug
C) CpETTDTELG! D) egpmeug.
Tamil Nadu is ................... .in geographical area among the states of the Indian
Union.
A)  Eleventh - ~ B)  Second
C})  Third | D) Seventh.
XXXX ' . { Turn over
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65.

66.

67.

68.

2001 b geBoi( whse CgTenss seso1 s Hrnflesr Lg, @rrr;é]lu w&H&e CleTams
A} 1027 Séveduedt B)  1:037 NéveShweb

C) 1047 Séedlue D)  1-057 Slevadlwebr.
According to 2001 Census, India’s population w-as

A) 1-027 billion | B) 1-037 billion

C) 1-047 billion D) 1-057 billion.
gupaiu wpestCabpedle allemen Bl

A)  uenef) - B) &éeyr

C) UGBS &pHD D) =gueiensid.

'I‘hé Steépmg stone for the progress of the society is

A) School : B)  College

C) University D) Office,

e5. 5,000 &@ 5% ol auly efpsde 2 g,sdsr@s,@é,@ Bedh g
4) g 2507 ' | B) 5. 500

¢l . 750 | D) em. 800.

Simple interest for Rs. 5.000 at the rate of 5% for 2 years is

A) Rs. 250 | | B} R.S. 500

C) Rs. 750 D) Rs. 800.

@&t gpefllfesr Upamgrs sdlismenre ghudin YbmCpmw

A)  Gagre ybmGpml . B @vés ubpCeri

C)  meopdye ybniBrml D)  ereuby yhpCHTw. -
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0 1 "" The ultraviolet rays from the sunlight cause
F| B :
b : _
B ; A)  skin cancer : B)  blood cancer
S ?
; ! f C}  lung cancer : D) bone cancer.
. i 3
o ~ '
¥ 69. g salls sall e 1
|

A) OWBL Iy eShies D " B)  Quif

oo SR g

e ot

eill
{
3

C)  GuuGur D) el

T

Which is not a simple fruit ?

A) Polyalthia ' . 'B) Berry

i TR b,

- C)  Pepo D)  Drupe.

170, @6 a.m.u. eeTig THNGE SO0 7

A) 139 MeV : B) 391 MeV

C) 931 MeV D) - 936 MeV.

i
Tt o 00 TR I e i i S W R e o e

L 3

One a.m.u. is equal to

A) _ 139 Mev - B) 391 MeV

o

C) 931'Mev D) 936 MeV. _ .

o Bt oo e g Y R

E | £71. Qardelinl L EUY S sEnéHE 2 gryeanib

A} sTerT sHUY wkhHE B) BCG gbly wGbhe

A% bR

C) DPT sy opha D) TT sGuy bGHS-
Example for killed vaccines is

A}  Cholera vaccine - 'B) BCG vaccine

s WM?-'«— ir_:gsﬂw -:m’h. e

C) DPT vaccine _ D} TT vaccine.

¢ xxxx {6001 ‘ [ Turn over




HANU

72.

73.

74.

75.

Qeureiut eerelllles S&dpmerey
A) 0-01 fl18

CJ 018

24

The least count of vernier callipers is

A} 0:01 mm

C) Olm

CleuctmaebHlar @eowy wrg 7
A)  sriut, Qeusirefub

C)  smium, @by

What are the constituents of bronze ?

| A) Copper and tin

C) Copper and iron

1+ tan®9 @sm WL

A) cos*@

C) cosec’®

The value of 1 + tan® 0 is

A}~ cos® 8

C) cosec” 8

Gubdlur Aetupoid " Fepeop

A) LTI @BLOGSTD méas:.errrrl'__@ (LpEBD

C) DITF (LPEOD

Xxxx (6001

B}

D)

B)

D)

B)

D)

B)

D}

B)

D)

B)

Dj)

B)

D)

0-01 Qs .8

0:001 Gig .S,

0-01 cm

0-001 cm.

STUUT, HSSHIHD

§SSHTEHD, QB

Copper and zing

Zinc and iron.

sec? 0

cot’ 9.

sec? 8

cot? 0.

BT & SHemeat HHeNTLEl wpenn

greurglany L& (peop.



India is following |

j{: A) Parliamentary Demaocracy B} Presidentiall Democracy

C)  Kingship D)  Dictatorship.

B = 76. - WPHe BBUULUTE _1853-&’3 24, 6T &G @emj;uieb BlpueutiLc L g
;?F b , A) el bHpb BeeEST . B)  ubuml LHHID S6&HHT

T e Cy  ubomd whHpb srCer D} - uburd oHpd GQesranes,

it The first railway line was laid between .................. in 1853.
| A} Delhi and Calcutta B} Bombay and Calcutta

" C) Bombay and Thane D) Bombay and Chennat.

77, Gefutest sue&d Heod SewdHs GLib

11—

Gk e % A) uﬁ;&mqé(ﬁ&:ﬂ \ B) e&Ter&sme
; i - C)  syusibumg D) Qedreaner.-
: i * The Dgnish founded a factory at

,{ L A) | _Pondicherry ~ B) Karaikal

;i T - C) Tranquebar ' D) Chennai.

78. unmpéE adyre Slarus Gubsd QeTLRelULLg 7

: A) symdle e , B) @hobset

’ﬁ " . C)  peveSbaer D)  @Hhsgeurser.
g aé

Khilafat movement was started against the

L A)  British Government - B) Hindus

| C) Muslims ’ D) Christians.

XXX¥ | (8] [ Turn over
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79.

80.

81.

82.

) ‘Glley @afles g dflwt

A) G GUT BT HIT & 651 B)
C) &IET D)
The author of ‘Kuil' magazine was

A) Kannadasan B)

C) Suradha D)

LTSl

urydlgree.

Bharathiar .

Bharathidasan.

@bdurale wrarQedui aepepssluGag s ?

A)  Oleeiemer - B}
C) Gweved D)
Which is calied the Manchester of India ?
A) Chennai B}
C) Delhi : D)
2,8TH ablibd soLingh aTerDed péhaliLBels)

A @pdlw Codlu yrameud B)
C)  ursleugmen Gadlu Gyreamiaud D}
Azad Hind Fauj was

A) Indiaﬁ Natiqnal Army | B}
C) - Pakistan National Army )
Gbdlus SN L&y SemeHeHILL L aieﬁm@
A) 1950 B)

Cj 1951 )

ook [6001] E]

(LpihemL

- Baeud.

Mumbai

Salem.

P ig sy Codlu @memyeuid

SIQTere Cadlu Grmespaub.

British National Army

French Naticnal Army.

1949

1952,



b

N

L
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}b Planning Commission of India was set up in the year -
: A} 1950 B) 1949
4 C) 1951 | D) 1952,
i 83. wrbles SUEHBI weorerireceennnene. auwdlenesr By fueurmi @rsss Ceustor@io.
3 |
A) 30 B) 35
i :
T C) 40 D)  45.
Fi .
The State Governor must have completed .................... years of age.
3 A 30 - B) 35
] C) 40 D) 45.
‘ 84. x* +10x + 21 = O @& &ESTUTL 1 661 Siteys Heoalid
A)  {7.3} . ' <~ B) ({7,-3}
E C) {-7.3} : D}y {-7.-3}
The solution setof x* + 10x + 21 = O is
A} {7.3} - BY (7,-3}
G 4-7.3) | D) {-7.-3}
- , ,
85. @i Coizer HeMGOTD ..oovvrerererenss o prifemiiaenersd Qemeoi i el
{ L&D,
' A) 1 _ By 2
n“‘
. c) 3 D) 4.
: The Election Commission of India is abedy of ................... members,
i A) 1 | B 2
c) 3 D 4
' xxxx [6001 ] , [5) : [ Turn over
¢
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86. senLllyTaemer allylqw Lmetmgw ygeest
A} sOuGHTe B) dlbweleygr)
C) DTmeUTesT D) .giéar@efsr.
The Pandiyan king who put an end to the Kalabhra rule is
A)  Kadungon ' B)  Simhavishnu
C} Maravarman . D}  Achuthan.
87. ‘meoy WgHH Q&ndieTe (peop Qelig Campe
A) &CRergamiees | B) wsorhb @urlmbdires
- C) esMemeer D) e GvwIghT . )
“Narai mudithu sollal murai seidha cholan” is
A) Kulothungan B). Rajendran I
C) | Karikalan D) Vijayalayan.
88. .@[b@um APgere Clubp BO-eug v Qem_mslulL SiLib
A} epeipmid SRBSTET(HE ..é)]l'_L..L'D B) el smbsresorGid SHLib
C) | uHsTd pheTE RS S b D) @ehug;rffn pHSTET RS SILb.
The plan launched on the flftlleth year of Independence was
A) Third Five-Year Plan B) Eighth Five-Year Plan
C) Tenth Five-Ye;':lr Plan - D) Ninth Five-Year Plan.

89. @uwoeneudties m__a‘;lkpé,@ LGS 300 Q& 1S gflsmwre wev CUp STTaOILTE B)H&HGD

dlener
A} aumarer alflgir flenen B) seplssLe dleen
C) &rdCu cusmen@Lm dlemer . D) Qamhser dlemer.

xooxx (6001



29 HANU |
The north-eastern parts of Himalayas receive more than 300 cm rainfall by
A} Bay of Bengal branch B) Arabian sea branch
£ C)  Gulf of Khambhat branch D) Konkan branch.

.5, : 90. QaameL et o Lefld 2 sften Qs Havaei

5 y:%

8§ Ay Serssmu@ B) emaserTl(

% C) ieeotml(H D) srermi@.

' ' The name of scales in Mullet fish is

A)  Placoid B) Cycloid

o
R T

C) Ctenoid \ D) Ganoid.
91j'. Qecr QETaTemsHemw 2. (Heurdahuau
% A} - Lmreles | , . B) @LDGO’OTI._@
o}
o -C}) ei'uéamrrsh‘ D)  qugmet.

Cell theory was propounded by

A) . Darwin : B) Mendel
t - ' |
' C). Schwann D} Operon.
92. auL aug.ou gfGeud yéoevrg DNA @)eiaurp e psalubdng 2
¥ .. .
iﬁi A)  ghed Q& B) dlenmeubil
2 4 .
* C) seosdoyp D)  enLove.
-2-'* Circular extra genomic DNA is called
% ‘
;s A)  Recipient cell B) Plasmid
=
: C)- Flagella ‘ D)  Pilus,
XXX (e] [ Turn over
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93. o . Hopysier upddt WERsEsD 1 5. al? oeremea SELLE Bgemeuwmes

allemsows &6 He.
A) 1N ‘ B) 2N
C) 3N D) 4N.

What force would be needed to produce an acceleration of 1 ms - on a ball of

mass 1 kg ?
A) IN B) 2N
C) 3N b) 4N.
94. X-sdlemry &@L@@gmﬁ wnfr 7
A} J.J. srbaer : B) - coumrnGL
C) [JT GBOTL_g0 651 ' D) Qameidl Qué:@&:rrge’u.

X-rays werc invented by

A} J. J. Thomson | B)  Faraday
C) Roentgen D)  Henry Becquerel,
95. @bl e gHGn T oo, aTeTULB DG
) A) aflaé ' B)  feosanpsd

C)  =yserdlspGeorhmid D) &{ésb.
Gain of electron is
A) combustion B} decormnposition

C) oxidation ' D) reduction.

xxxx [6001 | (€]
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96. ulguwéd I g wigwd I 2 a6 QurEsd), £Cp Qar@ssiu Gerer GOUGsHmens
Qereni( efluren efloLowp CebllsE :

GhSRser :

A}
B)
C)

D)

.a)

c)

d)

4

1

ulgwés 1

yGrmibies

& GULIFT

SUIT W& &6l

sefln i

3

2

2

4

1

3.

uLigwé II
1. &rédlub
2. ua) 2igon S eT6dsT GeoThold
3. @b

4. | SWPHHULIL S g ilg).

* Match List I with List II correctly and select your answer using the codes given

below :

a)
b)
c)'

d)

Codes :

A)
B)
C)

)

xxxx [ 6001 |

List I

Bromine

Sulphur '

Gases

Mineral water

List II
1. Calcium
2.  Polyatomic element
3. Liquid

4. Compressible.

6] e { Turn over
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97. eulLgdletr spperey

A) 2 SIBVG S 6T B) nrl BET oGS
nr?
C) e EGIT Deu@ &6l D) nr geu@sae.

The perimeter of the circle is

A) 2nr units . B) ar® sq. units
nr?
C) Yy sq. units D)  arunits.

98. 42-cug cggg@msusmmrlln_[ Bpsss sl LD GubdDiL L 46000
A) 1947 . B) 1950
C) 1963 D) 1976,
The 42nd Constitutional Amendment Act was enacted in the year
A) 1947 B) . 1950
C) 1963 D) 1976.
99. Gaoud, BTn&ss, sHoyll, Hrauuligerd hpD sererayflé LTLSED 2o
A) o ' B} s&mealfl
C) smAyugesi | D) Qelwrmy.

The river that' flows through Salem, Namakkal, Dharmapuri, Nagapattinam and
Thanjavur is

A} Vaigai , | B} Kaveri

C)  Thamirabarani D) Cheyyar.
100. oo sogles Cumt heoL CLHD e -

A} .90 1194 : B) 4.4, 11091

Cc) & .A.1193 - _ D) &40 1195.

The first battle of Tarain took place in the year

A). 1124 AD. 'B) 1191 A.D.

C} 1193 A.D. D) 1195 A.D.

XXXX |
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Z}"‘; : 101. Identify the compound sentence : ‘

If : % | A) The farmer was old and so he could not plough the field himself

? B} He is too tired to walk

f }‘ C) After he had done the sums he went to bed

D) - As he worked hard he completed the work.

f: %' . 102. Identify the complex sentence :

N A)  He proved his innocence

" s Bj He proved fhat he is innocent

é ‘ 3 C}  Being innocent, he proved it

' 3 D)  He was innocent so he proved it.

; : * 103. Identify the complex sentence :

f | _ J A) Hearing the footsteps they ran away

i Q BJ As the cat is away the mice are at p'Iay

f 3 C) He_ is old so he is weak

_. D)  David is poor yet he is happy.

3 Er-a 104. Identify the sirﬁple sentence :

:{ ; A) Be dﬂigent and you will succeed

rr ' m B)  Be diligent or you will fail

§ r Q)  Be diligent to succeed

D) Be diligent and you will be a success in life.

L £ 105. Identify the sentence :

: « On account of heavy rain the match was cancelled.

5 ,,; A} compound _ B) complex
; f C} simple D) none of these.
{‘ 106, Identify the superlative degree :

— . A) Gold is the most precious metal

. ; B)  Gold is more precious than many other metals

_ C)  Very few metals are as precious as gold.

| i D}  Silver is not more precious than gold.

H; XXXX ' | [6] , | Turn over
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107.

Identify the superlative degree :

A) Action speaks louder than words
B) Leela is the oldest of the two sisters
C) Kumar is not so wise as Kannan

D} Kannan is wiser than Kumar.

108. Identify the degree :

There are few districts in India as hot as Nellore.
A) comparative degree

B) positive degree

C) superlative degree

D) none of these.

109. Identify the comparative degree :
A) Ravi is as strong as his brother
B) This pony is better trained than. yours
C)  This temple is the biggest temple in India
D)  No other bowler is as good as Ramesh.
110, Identify the comparative degree :
A)  Gandhijiis the greatest Indian leader
B)  Your painting s worse than mine
€} / Uranium is the heaviest of all elements
D)  No Indian leader is as great as Gandhiji.
111. Find out the odd word ( noun ) :
A)  hesitate 'B) hesitation
C)  hesitatingly D)r hesitated.
112. Find out the cdd word ( noun ) :
A) waver B}  wavering
C) ' wavy D}  wavelet.
113. Find out the odd word ( adverb ) :
A) sport B) sporter
C) sportively D)  sportive,
Xxxx (&)
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‘il4 Find out the odd word ( Verb )

f |
i % A read | | B) reader | Y
i ;-;5_. : —— 5 ; i;

C). readable . D) r-cféém:g&

1
j ny A) oceamc . : B) ocean
L R ; B ) R
% <) OCe’anaut D} oceanography.

e
116, Select the correct plural form of _
sk : . -

man — ; - : [

e

P S mans , B) men

2 ‘Q&?-s‘ N (; . e
S 4 = .

iy, C) manes B D)  mens.: 3 v : .

a
v B R el o e

o

%1 17. Select the co:gicct plural form of

i

datum — | _ _ =
, % A) datugnc . B) - 'dgta . o B - i
C) datas - D} datem. . )

. Select the cotﬂrcct plural form of
food — r o | by

A)  foods ’ B) foodes - : - ,:';

ey

Q) foodies .~ D) foud.
119. Select the' correctsplural form of ' h ) o I . &
traffic — l :

y

5 2”. :

; A)  traffics _ B) traﬁ'lcks ‘ i
¢ :
i

.

e

D T oo

C). traffic . ' D) trafﬁckmg.
4. 120, Select the. correct plural form of
scenery ko . LI 11 | - ﬁs

A e

A) §cenerys ” .B)  scenery
L . : .

. o Cy - sceneryses . Dy - ‘'sceneries.
; 1 ' -
{ Select: thc correct sentence o : s
' rf F a4 ;:»
P N A) If Raj had won thc elcction hc Would havc bccomc an M.P. -
i B) If Raj had won the election, he will be an M.P. #
C) I Raj had won the electlon he would. be. an M.P.
jig Raj had won the electton he shall bc an M.P. V
Bl N . '
i . L

6, e/ [8) ’ ' | Turn over
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122.

123.

- 124.

125.

126.

127,

128.

129.

Select the correct sentence :

A) This is the house where Jack built
B)  This is the house that Jack built
C)  This is the house when Jack built
D)  This is the house that Jack build.
Select the correct sentence : |
A) They found him guilty of murder
B}  They found him guilty for murder
C}  They found him guilty about murder
D}  They found him guilty as murder.
Select the correct sentence :

A) We hope to see him agéin

B}  We hope to seeing him again

C)  We hope that to see him again

D)  We hope that to saw him again.
Select the correct sentence :

A) _Generally I liked ice-cream

B) Generally I like ice-cream

<) Generally T did not like ice-cream
D) Generally I will like ice-cream.

Find out the error :
Thenews are notgood at all
A B C D
Find out the error :
The three last chapters are difficult
A B C D
Find out the error :
Though he prepared well he fails
A B C D
Find out the error :

Bread and butter are évailable here
A B C D )
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| 1:%0 Find out the error ,
@%f Harishchandra -was  a honest King .
3 A i B C . D’
131 Fill in the blank .with correct' Homophone : .-
g All animals wﬂi LT L in winter. .
ﬁ: A) seen 7 _ B) scene -
F C) see D) sea.
132. Fill in the blan}; with correct Homophone : _
I ' & Ithought itmight ..coo.....
*‘” A)  rain | . B) ren .
& : C) reign . D3 " ruin. dl
4 1.’;3 Fill in the blank Wlth correct Homophone l:‘
! R 1 s . parents donated Rs. 10 000 towards the school-building extensmn. ,
j' é’% A)  Some - B) Sum
“ i C) Seam . - : D) ‘Seem.
f% . Fill.in the l;ila_f;_iéwithcorféctﬂdmophone o
* i The little boy had ShOTt ..... . e :
_ ) * A sight .. . B) cite
i f' ©C)  site - D) suit,
13A:5 Fill in the bla';n};‘_._\_with correct Homophone : "‘
% Sambu’s ...... is sharp and hooked.
& A) nose B) knows
.- % C) noose - D). nows.
1»316 .Comprehension
L R ;r:*' The street hawker is a familiar figure. Hc is a moving shop He brings at our
E ,. doors the ar__tlc!cs of -our everyday use In this way _he saves much of our
‘ . : precious time and trouble. ‘ '
? j ~ Who brings articles ‘at our donrs ?
s A} shop ov;rne'r _ B)  street hawker
: C}  servant | E D) children.
‘ xxﬁx — @] [ Turn over _ '
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137. Comprehension :

Cleanliness is a great virtue. It is next to godliness. Almost all the nations attach
the greatest importance to cleanliness. In Hindu scriptures, it is said that
cleanliness of body leads to purity of mind, which elevates our moral as well as
spiritual life, and at least brings us nearer to God.

What is next to godliness ?

A) ' purity of mind B) patriotism

C) moral life D)  cleanliness.
138. Comprehension :

A merchant had may clerks. One of them used to come late to the office. The
merchant warned him that his habit would lead him into trouble and told him
that he had better mend his ways.

What was the habit of the clerk ?

A) clerk never came late . B) clefk carte early

C) clerk came late D)  clerk came very late.
139. Comprehension :

The Egyptians made a tiny hole in the bottom of a stone bow! which they filled
with water. The inside of the bowl was marked to show the hours. Sand was
sometimes used instead of water.

How do we tell the time today ?

A) by using clocks and watches B} by using stone bowls and sand

C) - ‘by using water and stones " D) by using watches and sand.
140. Comprehension : '

The Chinese were the first to invent the art of printing. Before this invention,
books were written by hand. The Chinese invented the art of printing with
movable types. With this invention, reading and learning became open to
ordinary people as they were able to print the books in large numbers.

The Chinese invented the art of printing with
A) printing machine B}  movable types
. Q) immovable types D)  ink pad.
141. Identify the sentence pattern :
They elected him their chairman yesterday. _
A) SVOCA B) SVIODOA
C) SVOAA D)y SVCAA.
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2. Identify tl}e §e£}enqe pafterh El—aF

i

Ty

ted hiin our manager.

A)

We find the sum difficult.

A SVO | S B)

c) sSvocC | ‘D)

Identify the :;S¢'a_i/:t-ende pattern : °

I chose hér ,gi&;.wife:last month.

N S ) Lo
A) SV :I'O_i DO o - B}
c) SVoA , D)

. ldentify the‘-;?.e_rsl_gt«ence pattern :

i
He sells apples. _
N
A) SVOA=« - B)
C). SVA; : D)

. Change the following Verb into Nouil-for::m..:

Imagine —

A)  imaginative; " B)
iy .

c) imagiﬁfa_ti'on : : D)

. Change tl};e'fo}-;c')wing‘ Noun into Verb form =

Knowledge -—- ,

A)  known * ] B)

C) know . . D) -

. Change tl_}lej _fél_}awmg Noun into Verb form :

Nominee —

A) nomhi_agge T B)

C) nomn‘jlate - D)

Sincere -
A) sincerely - : _ - B)

C)  sincefeness . D)

; . : 8]

PR T - 3

_ / B}
C) 'SVOA S D)

. Identify the sépter’ice pattefn :t

S o,

s

SVC:

S V10 DO.

SVCAA

SVOCA:

SvocC
SV-O.

&
imaginary
'uq;%med.

2 T

kn_owlngly

knowing.

nomination

nominal.

. Change the following Adjective into Adverb form : *

sincerity

"sincereful.
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150.

151.

152.

153.

154.

155,

156.

157,

Change the following Adjective into Adverb form :

Quick —

A) quickness B)  quickful
C) quickly D)  quits.
Select the correct voice form and fill in the blank :

I want the work ................. by him,

A) done B) to be done
Cy did D)  is doing.
Select the correct voice form and fill in the blank :

Radio ................. by Marconi.

A) is invented B} has been invented
Ci was invented D} invented.

Select the correct voice form and fill in the blank :

Where ................. the stolen idol ................. ?

A} was, hidden B)  were, hidden

C)  have been, hidden D}  will, hide.

Select the correct voice form and fill in the blank :

The picture ...............0. by him.

A) has drawn B} had drawn

C) draws D) has been drawn.

Select the correct voice form and fill in the blank :
The letters ................. :

A) finishes . B} haven't been finished
C) finish D)  will finish.
Fill in the blank with a gerund :

................. French is easier than speaking it.

A) To read B) To be read
Cj Having read D}  Reading.
Fill in the blank with a suitable participle :

I heard him ................. a song.

AJ sing - B)  is singing
<) singing D)  sings.
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158, Fill in the blank wi

i i

p L % - N b - o
s well%ls a famous play B by William Shakespeare

b B wrote”

Lt L

' g A) writes f t A
?2 C)  written % . = - D) writing. : = *,%
1591 Fill in the blank With a\suxtable inﬁnitwe A o
"% I consider him the best pla_yer in. the team;.‘”"

[

By . ﬁmshing

Dj to. be ﬁnlshed

) C} to fimsh

2 S«
b %%Wﬁ? Bt

. Select the correct question tag :

a—
. T
{od

She seldom goes for swimmmg ..... ;... ? - _k
i 2 ) : ’ ¥

A) doesn’t sitxe ' ‘ | B does she oy
- C) isn't she; Y _ D) _ isshe. T : &

ELd

- Select the correct question tag : . o o
i : _ _ 4 o
I am not tnterestegl in poli_tics, . T 5. ? '

i
a

i
d
A

2 gy AR KA
200: ks %ﬁé%@ Dt
o
=
i

A amntl} don’t I

.Cl  dol 4 | D) aml

" .

(x_mz_m; ~9ﬁ"‘?“ﬁ"’mﬂ“‘§ﬂ _,g‘,h;%; ,_:?:.{;; D S~

. Select the correct question tag :

" This is the. need of the hour .............. . ? & - T
CA) isn't it: U | B) isit- =

C) ' need it 0 _ _ D). nequj_t it. ':»r.-,
; Select the correct fguestio_ra tag : .‘ . ? _ 4
You like him, — | o o |
A) do you IV ' /' . B), ”do?esrl't} hé" J ) ' r

("]

an

C) dontyou | .D) doeﬁsf%'ft;y"“-

. Select the correct question tag::

—
o -

' Iam honest, ...... _ e e ? ’
% A) arentl ! % ‘ . B) - arel
. % 0 aml ; ok | D) amn'tl e i
N ﬁ : ; - : “’&-
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166. Select the correct tense form of the verb given in brackets :

... 0597 ( ask } him what his name was.

A) asked B) will ask

C) would ask D)  will asked.
167. Select the correct tense form of the verb given in brackets :

| ¥ 3 G { be ) a dog, I would teach loyalty to men.

A) am B} were

C) is D) was.

168. Select the correct fense :

During my childhood, I ................. comedy shows.

A)  was watching B}  watched

C) used to watch D)  had watched.
169. Select the correct tense : |

She wishes that she ................. the Prirme Minister of India.

Al is B) was

C)  were | D) will be.

170. Select the correct tense :
When I arrived at the theatre, the movie ................. ;
-A) had already started ' B}  will be started
C) started D)  start.
171. Fill in the blank with suitable article :

Helo ol . ............ one-rupee coin.
A) no article B). the
C) a D) an.
172. Fill in the blank with suitable article :
He finished the work ................. hour ago.
A) a B} no article
C) the ' - D) an.
173. Fill in the blank with suitable article :
Radium was discovered by ................. woman scientist.
A) a . B} an
Cj the D}  no article.

xxxx [6001 [e]
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Fﬂlinthet;llankgwith suitable article : _ .

Mohan and h?sf_r}ijr_lother wentito ....... .Chennal to meet their relatives.

d‘,g_ .

A a i& - ——
C)  the ! 7

5. Fill in the blank w1th suitable articie

Rahim met’.. ..., boy in the street

A) a B) the

'C)  no article- ‘D) an.

. Fill in the blank with suitable preposition :

There is. a television ................. the-corner.
C) next | - -D)* above:

- Fillin the blai“k“?“’*th suitable preposition ¢

The party is .? ............... Thursday. _
A m ' B) by -

"C) near’ 4 A9 D) o

. Fill in the blank éWith suitable preposition

me, she is watching the film,

B) besig'e

C} m:xt'f ' . F D) at.

. Fill in the blank with suitablc preposition

He- stood e David and Danlel
A) amon:g-{!' | .. B) " between

o at . | o D) in..

oo ’ N

. Fill in the blank;with:suitable preposition :

';F o

Did you see Shoba ........ o the party'?
A} of } . .. B) at .

C) over . - - D) into.

D) no article.
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181.

182.

183.

184.

185.

186.

Choose the correct ‘antonym’ for the underlined word from the options given

below :

He worked for the cause of the destitutes.

A) poor B) ~ rich
C) substitute D) divine.

Choose the correct ‘antonym’ for the underlined word from the options given

below :

The convict disliked the meal.

A) drinks B)  liked
C) nibbles D)  sales.

Choose the correct ‘antonym’ for the underlined word from the options given

below :

The battle of Waterloo was won at the play ficlds of Eton.
A) got B) lost

C) succeeded D}  missed.

Choose the correct 'antonym’ for the underlined word from the options given

below :

I wanted to conquer my fear of Red.

A) weak - B)  defeat
C) full D) yield.

Choose the correct ‘antonym’ for the underlined word from the options given

below :

Today multimedia presentations are enhanced with graphics.
A) modernised B)  reduced

C) increased D}  arranged.
Select the word with the correct prefix :

A) illegible B) illtechno

C) illmarine D) illviolence.
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'1_87- Stlect the:rvogdwith .t;pe 93"-1:?% preﬁx i
A) rccash o B) , uncash
C) eixcaéh - D) decash.

188. Select the word with the correct suffix : ' . - i :
A) bookful : B) playful R
C) roq;g;ﬁ.ll - D)  hallful.

189. Select i;he_iﬁord with the correct suffix : | ‘

:

- A)  cardiology | '~ B) commonology

C) géggalpgy | © D). philosophy.

190.. Select tghe .gi_rofcl with the correct sj_a_fﬂx :
A) h'eal: B).© soal
% : .
C) rgﬁominal : _D) * seal. ‘ ﬂ

191. Match. the following words glven in Column A with their meanings in- Column B

" and select the correct answer from the codes given below : j I ij
| '_'_"Colum{::g A ' o Column B
a) trigrhﬁh_ | . 1. powerless
o dreadful. ' 2. -vidtory
c) . elegant | . 3. very bad
dj}i ) impotent | T 4. gr%.cefuf"%_ g

Codes H

A)

B)

S N - ]

b
o
—
w

C)

D)

4
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192, Match the following words given in Column A-with their meanings in Column B

and select the correct answer from the codes given below :

Column A Column B
a) hurdles 1. a strong current of water
b) portable _ 2. famous
c) popular 3. difficulties
d) tide 4. ecasy to carry.

Codes :

A) 3 4 2 1

B) 4 1 3 2
C) 1 2 3 4
D) 3 1 2 4.

193. Match the following words given in Column A with their meanings in Column B

and select the correct answer from the codes given below :

Column A Column B
a) bylane ' 1. stop
h) suspicion 2. street
c) pause 3. save
d) rescue | - 4. doubt.

Codes :

A 4 2 1 3
B) 2 4 3 1
C) 4 2 3 1
D) 2 4 1 3.

xo0cx [600T) 0
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......

Column B and select the correct anSWer from the codes glven below : E

i : )
icgﬁ.'}umn A - .Column B « . '

a) ., turned down 1. postponed :..-n,.
e o

b) . ‘;.’;:looll{ed into 2. recovered

c) °© got over ' 3. investigated.
d)  put off 4. declined. .

Codes :

e Tl g Ty

>z
L -..»Q
[}
s
("

C 4: .2 B
D) 3., 2 4 4

o & ! : g
- Match the, following words given:in Column A w:th their meanings in Column B

and seiect the correct answer from thc codes ngen below :

* Columa A L Column B . é

y & Q' | | 1. belief
D) '—:';;'credo ‘ <2, speed in walking
¢). pace 3. goback
d); retreat ' ' o © 4. search.
Codes : | ﬂ ’i
Va b c d
Ay 2 4 -1 3
B) 4 -1 2 3
c) 3° 1 4 2 {'
D) 4 1 3 2.
L - _ , ' , ~ | Turn ogyer
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196.

197.

198,

199,

200.

Choose the correct ‘synonym’ for the underlined word from the options given
below :

The Bishop slept tranquilly.
A) fast B) peacefully
C) quickly D}  carefully.

Choose the correct ‘synonym’ for the underlined word from the options given
below :

Who is the person to entertain you ?
A) eager B) simple
C) great : D)  enjoy.

Choose the correct ‘synonym’ for the underlined word from the options given
below :

Sambu stroked his nose in a characteristic gesture.
A) action B) use
C) present D) study.

Choose the correct ‘synonym’ for the underlined word from the options given
below :

Before the advent of computers, people spend most of their time watching

television.
A) exposure B) eniertainment
C) arrival D) focus.

Choose the correct ‘'synonym’ for the underlined word from the options given
below :

The least little blemish drew tears from my eyes,
A) dust B}  merit

C) fault D) defeat.

<4
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2011
P GENERAL KNOWLEDGE WITH GENERAL ENGLISH

Time Allowed : 3 Hours ] [ Maximum Marks ; 300

Read the following instructions carefully before you begin to answer the questions,

IMPORTANT INSTRUCTIONS
1. This Booklet has a cover { this page ) which should not be opened till the invigilator gives signal to
open it at the commencement of the examination. As scon as the signal is received you should tear
the right side of the booklet cover carefully to open the booklet. Then proceed to answer the
questions.
This Question Booklet contains 200 questions.
Answer all questions, All questions carry equal marks,

4.  The Test Booklet is printed in four series e.g, or [D](See Top left side of this page).
The candidate has to indicate in the space provided in the Answer Sheet the series of the booklet.

For example, if the candidate gets series booklet, he/she has to indicate in the side 2 of the
Answer Sheet with Blue or Black Ink Ball point pen as follows :

[A] (81 [C1LID]

5. You must write your Register Number in the space previded on the top right side of this page. Do
not write anything else on the Question Booklet,

6. An Answer Sheet will be supplied to you separately by the Invigiiator to mark the answers. You
musl write your Name, Register No. and other particulars on side 1 of the Answer Sheet provided.
failing which your Answer Sheet will not be evaluated.

7. You will also encode your Register Number. Subject Code etc., with Blue or Black ink Ball point pen
in the space provided on the side 2 of the Answer Sheet. If you do not encode properly or fail o
encode the above information, your Answer Sheet will not be evaluated.

8. Each question comprises four responses (A), (B). (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case. choose ONLY ONE response
for each question. Your total marks will depend on the number of correct responses marked by you
in the Answer Sheet.

S, In the Answer Sheet there are four brackets [ A} [ B ][ C | and | D ] against each guestion. To
answer the guestions you are to mark with Ball peint pen ONLY ONE bracket of your choice for
each question. Select one response for each guestion in the Question Booklet and mark in the
Answer Sheet. If you mark more than one answer for one question, the answer will be treated as
wrong. e.g. If for any item, {B) is the correct answer, you have to mark as follows :

(A (C1(D]

10.  You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.
After the examination is concluded, you must hand over your Answer Sheet to the Invigilator. You
are allowed to take the Question Booklet with you only after the Examination is over.

11.  The sheet before the last page of the Question Booklet can be used for Rough Work.

12.  Failure to comply with any of the above instructions will render you liable to such action or penalty
as the Commission may decide at their discretion.

13.  For Question Nos. 1 to 100 in all matters and in cases of doubt. the English Verston is final.

14. Do not tick-mark or mark the answers in the Question Bookiet.

[ TAMIL VERSION OF INSTRUCTIONS IS PROVIDED ON THE BACK COVER OF THIS BOOKLET ]
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